
  Gv$Ìn glUlhUlYl 

   œlY ZdiG$lLn DnG$Uln, mT @l^Ln ågTNn œlYmlaG$l§Ln DnG$U Ylgq, Ë_l§À_l @ljnà^lTn clIU Ylgq gq 

zdG$zcanë_l œlYl§À_l mlaG$l§m³G$r 90-95 % alnG$l§Lq UG«$l` @fUn. DcS=n m³fn WnC$Y Ë_lal zdG$zcan, mT Ë_lLl 

G$lgqgq Bm_lnI Ylgq @fn Ë_l§Yl clP=Un. Ufn glnC$ Y_n ågTxY zÛéº$rLl Wlne mËG$ñ$Y G$lgq Ilnï=q fl§ITn @lcí_G$ 

@lgn. cYñmUq @flnU cl àlTq, Ë_l§Yl zcLl`l§Lq WnclTJnclT @lcí_G$ clP=Un. Udq Uq glnUngq. cYñmUsÀ_l mndqUxY 

BW²]cTl`q fxú^ G§$mYn f§clWlLn cgY G$`UlU. àlÊ_l§Ll zcLl` G$`l_Ll U` JlnR=çl§À_l ^YlUqa zcLl`l§Ll mZ`Tl^ 

Ë_l§À_l G$lYlÀ_l glaLlaqU glnU @fUln. gq glaLla mlgÿY Wþf ǹ @œ pG$cl JlnR=nñcl` @lman cNY gacxY JlnR=çlal 

@lman zcLl` G$hcU @fUlU. Ë_lLà^lTn œlYlal zdG$zcUlYl Ë_lÀ_ldq œlYzdiG$ pG$cl œlYmlaG$ G$fl f§clW 

flXUlU, _lc` Ë_l f§clWlLn _d @ca§}xY @fUn c mZ`Tl^q œlYlLn @ljlmlaYgq. 

 


